Effect of TRWKR

1. Impression of Clearness (4t Stage, No Rain)
Sanage Bridge - Minatoshinbashi Bridge
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B Are there any difference of impression of clearness whether TRWKR is done or not?

The sum of “Clear”, “Clear a little”, and “Neutral” with TRWKR
IS more than without TRWKR. at
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Effect of TRWKR

2. Color (4t stage, No Rain)

Sanage Bridge - Minatoshinbashi Bridge
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B Are there any difference of Color whether TRWKR is done or not?

The sum of “Dirty”, “Dirty a little” accounts for about 80%, and
there isn’t too much difference whether TRWKR is done or not. e
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Effect of TRWKR

3. Transparency (4 Stage, No Rain)

Sanage Bridge - Minatoshinbashi Bridge
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B Are there any difference of Transparency whether TRWKR is done or not?

The sum of “Clear” ,“Clear a little” and “Neutral” accounts for
about 80% with TRWKR, 60% without it.
It can be thought that TRWKR makes the Horikawa River clean.
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Effect of TRWKR

4. Artificial Garbage (4 stage, No Rain)

Sanage Bridge - Minatoshinbashi Bridge
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B Are there any difference of artificial Garbage whether TRWKR is done or not?

The sum of “Clear” ,“Clear a little” and “Neutral” accounts for
about 60% with TRWKR, 40% without it.
There is apparent difference whether TRWKR is done or not.
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